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Second Year Arts Examination, 2018

PHILOSOPHY
" Paper—l
(Logic)
Time allowed : Three Hours
Maximum Marks : 100

PART - A (@ug-31) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
Wit T e € | TR I S T v Y 31 T A
Gt el % 37 THH € |
PART - B (@us-«) [Marks : 50

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.

TAH T W Teh-Teh T¥ A0 §U, ot °iel T hiform |

Tedeh W 1 ST 250 Al 9 31 7 |
Gt Il & 37 qHE § |
PART - C (@uE-|) [Marks : 30
Answer any fwo questions (300 words each).
All questions carry equal marks.
I N W FITT | Tk W9 o ST 300 V=i § S7re 7 9|

Yt 99 & 37 U ¥
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PART - A
(TUg-31)

1. Define the following :

frrAfeaiaa st aftsafia sifaa
UNIT -1
(FE-1)
(i) Logic.
ThITE |
(ii) Rules of definition.
afer % |
| | UNIT - T
(3HE-11)
(iii) Subcontrary.
foes 1
(iv) Contrapositive.
gicrafiad |
UNIT - 11T
(FT$-11)

(v ) The fallacy of exclusive premises.
firdTee STUETE QI
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(vi) Validity.

T |
UNIT - IV
(FET-1V)
( vii ) Induction.
HTHA |
( viii ) Hypothesis.
WTREH] |
UNIT .V
(FHTE-V)
(ix) Method of residue.
3Ty fafi)
(x) Popular explanation.
Aifere e |
PART - B
(@us-9)
UNIT -1
(FhTE-1)

2. Give the most satisfactory definition of logic and explain that.

mﬁmmmwammmw|
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3. Discuss the classification of term.

TRl % TR it fademn sy |
UNIT - 11

(ZHTE-11)

4.  What do you understand by opposition of proposition ? What

are its different forms ? Discuss.

A & foliy @ amg s woem ¥ s fafie O e
farar=rr i)
5. What is meant by a proposition in logic ? Explain and illustrate

the basis of classification of proposition.
I § arfehen Sl § R e ¥7 adaree % ariteRor
fafvmr smurl =1 vy v srmenf Fifw)

UNIT - 111

(FFE-11)

6.  Explain the rules of valid syllogism.

QY T & Tl @ anEgd |
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. "Find out and explain fallacies of following syllogism

(1) Al men are mortal

All bats are mortal

. All bats are men.
(i)  Light is cheering

His losses are light

~. His losses are cheering.
frefafea =mgfedl % 9w wrem .
(i) O TS Wit ¥

94l =TS weoneier &

C. 3 W 9IeS T §
(i) Vv IESHS Bt

SHE THAMH Toh ©

IHH THUH IEESE § |

UNIT - TV

(3ET3-1V)

Explain the criteria of good hypothesis.

TS WRRTIAT & WYCUS i SATE FT |
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10.

11.

12.

Define the main characteristics of induction.
ST k] YA faeiwanst <) amemedy
UNIT -V

(3E-V )
Explain meaning kinds and fallacies df explanation.
SATAT 1 A, YhR TF 1Y GHgd |
What do you understand by Analogy ? Explain.
WIGYATTHME | 379 a1 I &2 Wy #iferg

PART - C

(Evg-w)

UNIT -1

(TFTE-1)

How far is it true that denotation and connotation vary in

inverse ratio ? Clarify it.

TR Bl 9F 9 ¢ fon safpaiy ok wemgey 1 whrehn gheds
ey g7 T Hifs )
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UNIT - 11
(ShT3-11)

13. What are predicables ? Distinguish between predicable and
predicates. Explain the different kind of predicable with the

help of example.
are uH 51 87 oo v iR fade ¥ o warsd | ey u
fafsm o 9 =1 TereTo *t gerE § aqEd |

UNIT - I

(FTE-111)

14. Examine the validity and invalidity of the following syllogism
by ven-diagram technique :
(1)  No rich man is a Vaga bond

All Attroneys are rich men

.. No Attroneys 1s Vaga bond.
(i)  Some reformers are fanatics

All reformers are idecalists

.. Some idealists are fanatics
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18.

16.

ﬁwf“aﬁaﬁwmgﬁﬁzﬁaﬁéumaﬂ?aéwﬁﬁaa?.eﬁ'@
wfafy gra ife -
() = ¥TRF SER T}

it Fwie v

I TR AER T §
(i) FT GURE TTH T

it guReE smavfard

FO YA TR 7

UNIT - IV

(F&E-1IV)

What is the difference between observation and experiment?

Discuss.

fdeor qen o ® = SR ®? faa=m wifew)
UNIT - V
(3E-V)

Explain Mill's method of experimental enquiry.

fre =t wraifiTes SHYM #t ygfadl St saren it )
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